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. (15 pts) A recording tape 0.001 inch thick is wound around a reel whose inner
radius is 0.5 inch and whose outer radius is 2 inches. How much tape is needed to
fill the reel?
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(15 pts, 5pts each) Evaluate (a) lim(—— - —\—), (b) lim(1+)", and (¢)
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. (10 pts) Given x? +y* =25, find %
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. (5 pts) Find the area of the region bounded by y = %}. the x-axis, and the line
x4

x=3.
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. (10 pts) The rate of change of the number of coyotes N(f) is a population
proportional to 650- N(¢), where  is the time in years. When f=0 the population is
300, and the population increases to 500 when r=2. Find the population when =3,
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. (5 pts) The half-life of carbon-14 is about 5715 years. A sample contains 1 gram
of carbon-14. How much will be present in 10,000 years?




